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B (x-y)*(x +y)?

@ x* -y @ x%-y?
(@)x4—2x2y2+y4 @ xt—x%y? 4y

® x* —4x?y? +y*

(x=y)%(x+y)? = ((x-y)(x+y))?
= (a2 —y?2)?
— x4 _2x2y2 _|_y4




2. THA] (2 + 20— 3)(3x + x4+ K) O AANAOIA] Aeke A% 15
o ), A4 ko] ZHe?

®-3 @0 ® 3 @6 @)




4] (522 + 3x + 1) NGRS o, 2 ] A?

® 10 @ 13 ® 16 @19 ® 25

B

(5x% + 3x + 1)(5x% + 3x + 1) A

i ) (%17‘(]—3(}) (Ei]—ﬁo]-) —/] O“(l)— 9x>
i) (olxFah)x (/;.]'—/,\— H) 9] 749 2 x 5x?
= 5x2 4+ 5x2 + 9x2 = 19x2

© 19




4. x+y=4, xy=3< 0, x® - xy +y? 9] = £}t

[ =t
[= ]

>
> ®™Ee: 7

Poxy+yr=(x+y)?-3xy=7
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Do @1 @2 @ 3
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2t = 14> 0) D W, 4 — 9 e
X X

@ 36 @ 44 @52 @ 68

® 82

1 1
P4+ = =(x+=-)-20|E=
x x

1
- =4(- 0
X+ (- x>0)

1 1 1
3 — 3 —
X +§—(x+;) —3(x+;)—52
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@ 19 ® 20 @ 21 ® 22
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=33-3x3=18




8. x+y+z=3 xytyztw=-1Ld M +y*+2° o F= FoHE?

@11 @ 12 ® 13 @ 14 ® 15

P+ +22=(x+y+2)?2-2(xy+yz+x2)
=94+2=11
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9. o

IH

D (x-y-1)2=x2+y>+1-2xy—2x—2y
@(a +b)%(a-b)? = a* - 2a°p* + b*

® (—x+3)3 =x%-9x% +27x-27

@ (a-b)(a®>+ab-b?) =a®-b3

® (p-1(P*+1(p*+1)=p-1

B

O (x-y-12=x2+y>+1-2xy-2x+2y
® (=x+3)3 = —x3+9x% - 27x + 27

@ (a-b)(a® +ab+b2)—a -b?

© (p-Dp+ P>+ (p*+1) =p° -1




10.

o % el WAVt 2R E e

O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a®+ 4b% + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x3+38
Q(XQ_xy+y)(x2+xy+y2) :x4_x2y2+y4

©® (x-

DPx+1)2=xt-2x2+1

@ (2 —xy +%) (¥ + 2y +y?)
= (x* +3%)? - ()
= x4 a2y 4yt




11. (P +ax+2)(2 +bx+2)E ANAS o], 2 3 2] AlFE 250
o] A sh= 44 a, bell st a+ b 2] 327

oW

@ -2 @—1 ®1 @ 2 ®

B

(2% + ax + 2)(x? + bx + 2)

= x5 +bx* + (a+2)x® + (ab + 2)x* + (2a + 2b)x + 4
(x2 O] Alg)=(x* 9] AlF)=0°] B2
ab+2=0,a+2=0

Tt a=-2, b=1

La+b=-1




12.

(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2% — Tx + 8) 2 AN Ao A] »3
o Ag?

® 31 @ 33 ® 35 @ 37 )39

2x3 x 8 = 3x% x (=7x) + 3x x (—2x?) + 4 x 2x3 = 39x3




13. a24+024+c¢2=9,ab+bc+ca=9, a+b+c2 F2?

D -32 @ -2+3 @if’)‘/g
@ +3V2 ® V6

B

(a+b+c)? =a?+b*+c?+2(ab + bc + ca)
=9418 =27

a+b+c==+3V3




14. x+y+z=1xy+yz+zx =2, xyz=3< ™, (x+ Dy + 1D (z+1)
o] k& Fotofet

> E.

> ®™e: 7

(x+1Dy+1)(z+1)
=xyz+xy+yz+zax+x+y+z+1
=7




15. a=2004, b =2001Y o], a® — 3a2b + 3ab? — b3 2] ZrL?

@® 21 @ 23 ® 25 @)27 ® 29

“(a-b)®=3>=27




16.

(10° + 2)7 €] 2} A2l ] 5] Fg Foroder,

@ 15 @18 ® 21 @ 26

B

A& A7Nskd
1015 + 23 + 3 x 2 x 10°(10° + 2)
=10" 4+ 23+ 6x10'° + 12 x 10°
=10 4100 x 6+ 10° x 12 + 8

“14+6+1+2+8=18




17.

® Va2

ANl B4l dolE q, b, c2} 5
2(ab + bc + ca) = 52
4(a+b+c)=36 - a+b+c=9
207 gzl o))

N

= /(a+b+c+)?—2(ab+ bc + ca)
= V81 -52= V29




18.

Al 2o oo go] 220131 thZHA1 0] Leol7k 1491 g mA ]

2ylole?

®us @196 @)ss @308 © 496

B

Al AP E x, y, z2 5Hd

VAZ+y2+ 2 =14 @ol1
BYolE 2(xy + yz + zx) ©I T

®©, @ °flA 222 = 142 + 2(xy + yz + zx)
" 2(xy +yz +2zx) = 288




19. Al A% a, b, c7t O3 Al 272 TSI

a+b+c=1, ab+bc+ca=1, abc =1

ol W, (a+b)(b+c)(c+a)l] F2?

a+b+c=1°4
a+b=1-c¢c,b+c=1-a,c+a=1-b
(a+b)(b+c)(c+a)
=(1-)(1-a)(1-b)
=1-(a+b+c)+ (ab+ bc + ca) — abc
=1-1+1-1=0




20. (a-b-co)*<= &A AN A2

@® a® + b2 + % + 2ab + 2bc + 2ca
@ a® + b2 + ¢ — 2ab — 2bc — 2ca
® a* - b? - ¢ - 2ab — 2bc — 2ca

@a2+b2+c2—2ab+2bc—2ca

® a®-b?-c?+2ab - 2bc - 2ca

(a-b-c)?
=a’+ (=b)® + (=¢)? + 2a(=b) + 2(-b)(—c) + 2(—c)a
=a? + b% + ¢? - 2ab + 2bc — 2ca




21. b A FolH $4 %L S n=w?

@ (a+b+c)? =a®+b*+ c® + 2ab + 2bc + 2ca

@ (a+b+c)(a®+b*+c?—ab-bc-ca) =a’+ b+ ¢ - 3abc
® (a+b)? = a3+ 3a’b + 3ab® + b®

@ (a-b)® =a®-3a’b + 3ab® - b®

@(a +a+1)(a®-a+1)=a*-a*+1

® @+a+)(a*-a+1) =(a®+1)-
=a*+a’+1




22. 99x101 x (1002 + 100 + 1) x (1002 - 100 + 1) & AAF5FA?

@1006—1 @ 100° +1 ® 100° -1
@ 100 41 ®1

S5
100 = a 2 |3 517
(F4) =(@-1)(a+1)(a® +a+1)(a®-a+1)
=(a*-1) (a* +1)




23.

2005 x 2004 4+ 1

20053 + 1

> E.

> =eHl 2006

o ke Fatola,




3L W, 22 4 O YT a7 4 € g Az Fohn?
@7, 18 ® 8,16
@ 9,18 ® 10, 27
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20 @] AL ek, o] Aol BE RA Y Lol

20m°] iz el Zol7k 3m @ w, o] AR
A7F?

@ 12m? @ 13m? ® 14m? @ 15m?

B

2ol %

kel
H
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@16 m?

Al BA2]e] DolE a,b,cet 5HH

dla+b+c)=20,a+b+c=5

V2 +b2+2=3,2+b*+c2=9

(B4Ylol) = 2(ab + bc + ca)
=(a+b+c)2-(@®+b+c2)
=25-9 =16(m?)
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